REEHRINE

ESvap §=2 XERERETATRELHRZEO AR
KEL 21 22 23 24 25 KEHL 21 22 23 24 25
dtimE 4 10 7 10 12| E 34 34 54 32 25
it 17 14| 15 12l 11| £iR 29 27 26 209 24
IR 3 2 5 7 6| f&@H 0 0 1 1 2
T 2 10 3 8 5| &M 1 2 3 2 4
R 20 12| 25 15| 18| #ME 2 2 2 4 2
RRF= 1 1 2 1 2| HHE 12 7 7 8 3
HRET 1 1 3 4 0B TE 2 1 2 0 1
RREZE 1 3 3 2 3| =#B 7 9 5 8 12
RRSEE 0 1 2 2 2| KB 18 19 15| 23 18
BEOKET 3 2 5 1 1| fF 2 6 6 2 4
—1& 2 2 2 1 1|ER&F 3 3 0 6 3
1EELL 6| 13 9 3 5| v 0 2 1 1 1
im 71 10 6 9 9| ZDith 6 16 12 24| 24
Er Kst| 183| 209| 221| 215 200
UFELFORRMEZEXRIE. RRIFXFREERREREH KOG THS,
NILKRFE
KEL 21 22 23 24 25 KEHLH 21 22 23 24 25
BRIREBIL 0 2 2 3 1] KB4 3L 4 4 2 4 2
(=11 = Xva 2 2 3 1 0] £Mith 14 9 10
#BEE SCEL 0 3 2 1 3|3 KE| 200 200 20 16 12
EAIK 21 22 23 24 25
EFE 28| 31 24 34| 27
FAILKE
BAER 3 1 0 4 2| EI 19 24 19| 23 17
FILZk 7| 13 9 13 5| BRA 38 27 36| 34| 25
EILER 21 16| 33 18] 27| A% 9 8 14 6 9
& 8 2| 24 7 7| BEfEH 20 29 42 30 26
R 27| 11 24 16 21| AZE4 39 29 33| 32| 41
EEH 2 5 3 8 9| IdnfE 56 97 62 72 62
HREF 3 4 3 2 8| Tt 249| 226 65| 300] 180
RRER| 22| 23] 29 26| 30|FASIKEH| 525 519 396| 594| 471
HARZF 2 4 0 3 2




&t

XP2 21 22 23 24 25
EILKEt| 183 209 221 215| 217
AT KRE| 200 20 20 16 12
FAIIKET| 525| 519] 396 594 471
ZEELEH| 275 279 276 272| 275




